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While answering the candidate should adhere to the word hmit as far as
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il the discriminant of quadratic equation cx2

bx+a=0 is zero, then the
value of equal root § will be
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The roots of the equation a2p2x2 - g2 =0 will be
2 2
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if the diameter of a semicircle is 14 cm, then its circumference will be
(@) 24 cm (b  22cm
Ac) 36 cm (d} 42 cm.
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il the mcan and median of an asymmetrical distribution are 268 and
279 respectively, then mode will be

w301 (b) 205

(€ 314 d 308

e v & aw fag PR & WY YEt pa ok pe i wE ¥ Ak pA = 6 T A, A
PB &1 e g

(F) 3w ' (@) 4@
O5N pam ('F) 12849 | 1

PA and PB arc two tangents drawn from an external point P to a circle.
If PA = 6 cm, then length of PB will be

(@) 3 cm (b) 4 cm
[c}] 6cm (d) i12 cm.
6. A p(-2,8) 3 g(-6,-4 )% HaA awh @ @vs o o fag &
() {(-6,~4) (| (-4,2)
(M (2,6} () (-4,-6). 1

The midpoint of the line segment joining the points p { = 2, 8 ] and
q(=-6,—-4]is

al (-6,-4) b)) (-4,2)

€} (2,6) (—4,-6).
V--ﬁqﬁﬁuﬁhﬁz:a%aﬁmﬁﬁimﬁmaﬁwmm

() 4:9 (@ 2:3

(D 8:27 (@) 3:2 1

If the ratio of eircumferences of two circles is 2 : 3, then the ratio of their radii
will be

fa] 4:9 b} 2:3
(c) 8:27 ) 3:2
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: 272e5
The decimal expansion of Tﬁj‘ BB oot 0 e
2°n5
§2. ST axd ¢ bx e ® LTE W i A | 1
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RO | o - % be drawn from an extermnal point on the arcie.
§5 g e oI omomimmnien wpin 8 T4 |
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21.

22.

23.

24,

293.

Poases |

i «, TGS p[xJ=x2-?x+k?¢?ﬁ$%3ﬁ? u
L
2 _7x+k and a=-p=1

) ¥ At ko A FEE 2
: , then find
If a, [} are the zeros of polynomial pl(x)=x
the value of k. :
A 4x2 -25 =0, @ x & q e |
Il 4x2 =25 = 0, then find the value of x.
= wafgER AABC T £C = 90°, @ fag =X & AB? = 24C7.

2
In isosceles AABC, £C = 90°, then prove that ABZ = 2AC )
& g5 gal F) w10 99 3R 6 T ¥ 72 gu (FRT) B A B A= HH
il B¢ (#iaTE) g9 S =9 Bl ¢ 2
In twe concentric circles of radii 10 em and 6 c¢cm the chord of larger circle
touches the smaller (inner) circle. Find the length of the chord of larger

{outer) circle.

y & U frew fowd foe frgal P (2, -3 ) 3R 0 (10, y) F A9 A F

\J@om% - 2

Find the value of y for which the d}stancc between the points P{ 2.~ 3 ) and

Q( 10, y)1s 10 umt. L
UF A Y @ AT 100n WS ¥ K FER 12 6 &, A s Fen e

26.

2
The volume of nght circular cone is 100n em® and its height is 12 em Find
its lateral height.

27. IA W W US &G el (e S 14 619 € 5
Find the surface arca of a sphere whose diameter 1s 14 cm.

28. za Bqm #1 Fe e S WY (3,-5), (-7, 4)aW (10, -2 ) 7 2
Find the centroid of the triangle, whose vertices are (3, ~5), (-7, 4 ) and
(10,=2).

29, A% (anA=cotB. A EE T F A+58=90°. " 9
Il 1an A =cot B, prove that A+ B =90°_ E

30, A% 0= 45° A tan?0+—— =1 o= et 5

'\){6’5’, sin?0

31

1

mngﬂ

AP 10, 7, 4 %1 30 51 9= fsrs) 5
Find the 30th term ul'fl/aﬂ'ﬁ 10, 7,4, ...
' 7

ITD = 45° then find the value of tanzﬂ +
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;k g w1 6 5 - /3w amfvd e g 3
Prove that ﬁ--.-"ﬁ ia an irrational number.

33. 0.6 = i TE F o ¥ 8 W H 3
Express 0-6 s ralional number in simplest form.

aq.%ﬁﬁwmmwxmﬁm%%tﬁwmﬁa 3
Sum of a number and its reciprecal i3 -.'32 Find the number,

25, Tum WHERN 252 - 2¥3x 4 =0 WA TA B 7 3
Find the roots of quaedratic cquation 2x? - 22x +1=0.

36. TG AABC %) X T o W & A fow e g o e La g 3
Each side of an cquilateral triangle ABC is a units, Prove that the altitude of
the triangle will be -‘gvu .

AT, x-aaamaﬂargmﬂa"iﬁhﬂaﬁgz.-aﬁﬁn[ﬁz,gg#wm 3
Find Lhe point on x-axis which is equidistant from the points ( 2, - 5 ) and
(~2,9).

38. T

Se R T UF 9 e W &, A o I W W s ) wiesal 3

3
A dic is thrown once. What is the probability to get an odd number ?
- 2 2 _1-sin®
39, g %t F (sech=tanl)* = 1+sin[}' 3
1-sinl
\,@"‘Prmc that (secl- mnﬂ] I.+ S0
u: .
40, fﬂﬁﬁfﬁsmu c:ns 1 3
81N {J casz 0
- 4
Prove that 51112{}— cnsgu =1.
sin” 0 -cas~ 0
ql_ﬁqmjﬁﬁmmsg%.?ﬁwwhﬂ%l w | 3
AT 10-20 | 20-30 | 30-40 | 40-50 | 50:6G2/80-70 | 70-80 \
Gt = 5 3 4 | — 2 6 13 \
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43.

14,

45,

1013 T

The mean of the given frequency distribution is 52. Find the mussing
frequency,

MATHEMATICS

Marks 10-20 | 20-30 | 30-40 | 40-50 | 50-00 | 60-70 | 70-80
No. of students 5 3 4 - 2 [ R
e T aEERA @29 &1 T i 6 3

7 HAOHA 10-25 | 2540 | 40-55 | 55-70 | 7085 | BSIOU
frentugi &1 wem 2 3 7 6 [ )
Cualculate the mode of the given frequency distrnibution ¢
C L 10-25 25-40 40- 55 55-70 YO-RB5 H5 (W)
Mo of studenis 2 3 7 6 L+ L]

WEH HE B BIATERA WM & EEA P gt & 0 a1 T dErs g e o
TV 7 B 3T 14 W AW LAOC = 40°,

&

Find the area of shaded region in the given fligure with centre O, if radii of two
concentiric circles are 7 cm and 14 cm respectively and ZAOC = 40°,

&

mrm N A Rl 2x4y =6 4x-2y=4.

5

5
Solve by graphical method : 2x+ y =6 and 4x =2y = 4,

e YR A UR BE T g 4 T 3R 9 & w g0 o FwA v bl A a8
s s g em g mFg s R mm W Tt et b 5
srga

tF AT R TR @ U WEA @ & e e 30° ¥ oM v & o p ok w
fergt &1 3593 F91 60° k! 5 e w1 FE 50 St b A v @ St S

L0 Torry fopes

il
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The angles of cicvation of the top of tower from two points at distances of
4 m and 9 m from the base ol lower and in same stranght line with 1 are
prove that the height of the tower 1s & metre,

OR

The angle of clevatien of the lop of a building from the fgol of a tower is 30
and the angle of clevation of the top of the tower from the foot of the bulldimg

is 60°. Il the tower is 50 metre high, find the height of the building,
fag &1 o gueior B & @9l € = o <1 sl & o & aRER & 2 5
In a right triangle, the square of the hypotenuse 1s equal to the sum ol the
squares of other lwo sides.
@1 Ap= 12 98 @Y 3T 3: 5 % R o G
Hygdr
AABC &t T it fd BC = 6 @, AB = 5 W 991 £LABC = 60° €1 56 UHEY
T 574 B T Foret g AABC W et w1 2 g
Draw a line AB= 12 ¢m and divide it in a ratio of 3 : 5.
OR

Construct a triangle ABC in which side BC = 6 cm, AB = 5 cm and
£LABC = 60° Construct a triangle similar to this triangle whose sides are

complementary-

12

o

3 ’ .
;t—!_h of the corresponding sides of triangle ABC.

feere a1 aiv 3k gera siffhfaas
Y QUue, ATees Que, 3iide-hl,

UT&Ishd, Siied, dAld eee, de-317 3

Ufaed e udtan uss uz 3nfe & f3e...
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